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QUESTION 1

You are replicating the site Avi with a prefixType2Avi. Which two statementsare true? 

A. All asset types and subtypes are copied to the Type2Avi site. 

B. Asset associations are shared between the Avi and Type2AVi sites. 

C. All users for the Avi site are shared with Type2Avi but not copied. 

D. Start menus are shared from the Avi site to the Type2Avi site. 

Correct Answer: AD 

 

QUESTION 2

When creating a user in the WEMinterface, what are theminimum fields that are required? 

A. Name 

B. Email 

C. ACLs 

D. Groups 

E. Password 

F. Assign user to a site 

Correct Answer: C 

 

QUESTION 3

Which three items cannot be published usingstandard WebCenter Sites publishing mechanisms,from a source instance
to a target instance? 

A. users, ACLs, and roles 

B. start menus 

C. workflow history 

D. revision tracking history 

E. asset subtypes 

Correct Answer: BDE 
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QUESTION 4

Which three statementsare true aboutflex assets? 

A. Flex asset types are part of an asset type structure called a flex family and therefore, can be made up of a pool of
attribute assets for that flex family. 

B. A flex family can have only one flex asset type. 

C. The parent asset values inherited by a flex asset are stored in one of the flex asset type tables instead of the parent
asset type tables. 

D. Attribute data is stored in records instead of columns in the database table so that they can be changed without
editing the structure of the database table. 

E. Attribute editors and flex filters can be used but not named associations. 

Correct Answer: ACD 

 

QUESTION 5

Which three are key considerations when designing a template architecture? 

A. a simple, clear, and consistent framework for development 

B. support for implementation of asset security 

C. reuse of page components to reduce development overhead 

D. insight into database performance 

E. risk reduction through knowledge of the site architecture 

Correct Answer: BCD 
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